VCE & PDF https://www.passapply.com/a00-202.html
2024 Latest passapply A00-202 PDF and VCE dumps Download

PassApply.com

A00-20204As

SAS advanced programming exam

Pass SASInstitute A00-202 Exam with 100%
Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.passapply.com/a00-202.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by SASInstitute
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEE
Satisfied Customers

Q00O

A00-202 Practice Test | AO0-202 Exam Questions | A00-202 Braindumps 1/4


https://www.passapply.com/a00-202.html
https://www.passapply.com/a00-202.html
https://www.passapply.com/a00-202.html

VCE & PDF https://lwww.passapply.com/a00-202.htmi
2024 Latest passapply A00-202 PDF and VCE dumps Download
PassApply.com

QUESTION 1

The following SAS program is submitted:
data two;

y = \W2\\

run;

%let x = 10;

%let var = y;

data one;

set two (keep = andvar);

z = andvar * andx;

run;

Which one of the following is the value of the variable Z when the program finishes execution?
A. ERROR_

B. 20 (as a numeric)

C. 20 (as a character)

D. . (missing numeric)

Correct Answer: B

QUESTION 2

The following SAS program is submitted:
options yearcutoff = 1950;

%macro y2kopt(date);

%if anddate >= 14610 %then %do;
options yearcutoff = 2000;

%end,;

%else %do;

options yearcutoff = 1900;
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%end;

%mend,

data _null_;

date = "01jan2000"d;

call symput("date",left(date));
run;

%y2kopt(anddate)

The SAS date for January 1, 2000 is 14610 and the SAS system option for YEARCUTOFF is set to 1920 prior to
submitting the above program. Which one of the following is the value of YEARCUTOFF when the macro finishes

execution?
A. 1900
B. 1920
C. 1950
D. 2000

Correct Answer: D

QUESTION 3

The following SAS program is submitted:

%let var = chicago, 1;

data a;

var = \\'new york, 2\\;

newvar = %scan(andvar,2,%str());

run;

Which one of the following explains why the program fails to execute?
A. The %STR() is invalid syntax.

B. The %SCAN function does not exist.

C. The %SCAN function has too many arguments.

D. The macro variable VAR does not get created properly.

Correct Answer: C
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QUESTION 4

Which one of the following displays the definition of a stored SQL procedure view in the SAS log?
A. ECHOVIEW option

B. EXPANDVIEW option

C. VALIDATE VIEW statement

D. DESCRIBE VIEW statement

Correct Answer: D

QUESTION 5

The DICTIONARY.MACROS table stores information about which of the following?
A. user defined macro variables only

B. system defined macro variables only

C. both user and system defined macro variables

D. macros stored in the autocall macro library only

Correct Answer: C
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